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7 100kN/ MZEB A% — -~ - —|3mEBZBH — ~ — — — | 100kN/mMiZ#BZ % — - ~ — — [3mZEEBAS - -~ — — —
zhilst 1.00 | 0.00 ~ 476 59.52 | #hs |0oo ~ 476|1.77 9.46 zhilst 1.00 | 5.00 ~ 5.00 59.32 | #hdst | 5.00 ~ 500 1.77 9.46
P 100kN/M%EB 2% — -~ - —|3mEBZBH — ~ — — — | 100kN/ Mm% %% — - ~ — — [3mZERBAS - -~ — — —
zh st 1.00 | 0.00 ~ 497 61.87 | NS | 000 ~ 497 | 1.88 10.05 zhst 1.00 | 56.00 ~ 5.60 61.87 | #hds | 5.00 ~ 5560 1.88 10.05
3 100kN/M%E#B A% — -~ - —|3mEBZBH — ~ — — — | 100kN/mMiZE#BZ % — - ~ — — [3mZERBAS - -~ — — —
Zhlist - - ~ - —| £hst -~ = — — Zhust — — ~ — —| #h st — ~ — — —
p 100kN/M%E#B A% — -~ - —|3mzBZBH — ~ — — — | 100kN/miZ#BZ % — - ~ — — [3mZEEBAS - -~ — — —
Zhlist - - ~ - —| £hst -~ = — — Zhust — — ~ — —| #hst — ~ — — —
5 100kN/M%EB A% — -~ - —|3mzBZBH — ~ — — — | 100kN/ Mm% %% — - ~ — — [3mZEBAS - -~ — — —
zh st 1.00 |1 000 ~ 661 83.32 | Fhds | 000 ~ 661 1.97 10.57 Thst 1.00 | 5.00 ~ 880 83.32 | ThLS | 500 ~ 880 | 1.97 10.67
5 100kN/M%EB A5 — -~ - —|3mzBZBH — ~ — — — | 100kN/ Mm% Z % — - ~ — — [3mZEBAS - -~ — — —
zh st 1.00 1000 ~ 728 9269 | NS | 000 ~ 728| 1.98 10.62 zhns 1.00 | 5.00 ~ 1040 9269 | 4 | 65,00 ~ 1040| 1.98 10.62
7 100kN/M%E#B A% — -~ - —|3mZBZBH — ~ — — — | 100kN/ Mm% %% — - ~ — — [3mZERBAS - -~ — — —
zh s 1.00 | 0.00 ~ 6.08 76.24 | Fhs | 000 ~ 6.08| 1.89 10.12 zhsh 1.00 | 5.00 ~ 7.30 76.24 | Ths | 500 ~ 730 1.89 10.12
g 100kN/ Mm% Z % — - ~ — —|3mEBZD - ~ — — — | 100kN/m%E#8Z % — — ~ — — | 3mZEBZD - ~ — — —
zh s 1.00 | 0.00 ~ 6.08 76.24 | Fhs | 000 ~ 6.08| 1.89 10.12 Thsh 1.00 | 5.00 ~ 7.30 76.24 | Ths | 500 ~ 730 1.89 10.12
9 100kN/ Mm% Z % — - ~ — —|3mZEBZD - ~ — — — | 100kN/mM%E#8Z 3% — — ~ — — | 3mZEBZD - ~ — — —
Zhilst 1.00 | 000 ~ 541 67.49 | Fhds | 000 ~ 000| 1.71 9.16 zh st 1.00 | 5.00 ~ 5.90 67.49 | RS | 500 ~ 590 | 1.71 9.16
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M#EB %5 ~ ImEBAS ~
zhlish ~ Zzh st ~ Zzh st ~ Zzh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M%EB %5 ~ ImEBAS ~
zhlish ~ Zh st ~ Zzh st ~ Zzh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M%EB %5 ~ ImEBAS ~
zhlish ~ Zh st ~ Zzh st ~ Zzh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M%EB %5 ~ ImEBAS ~
zhlish ~ Zh st ~ Zzh st ~ Zzh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M#EBZ5 ~ ImEBAS ~
Zh s ~ Zh st ~ Zzh st ~ Zzh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M#EBZ 5 ~ ImEBAS ~
zh s ~ Zh st ~ Zh st ~ Zzh s ~
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